Potencias de 10 (B)

Calcule los siguientes productos y cocientes.

4.9706 = 0.01

7.1081 =+-0.01

5.451+0.01

2.3582+0.01

8.7656 x 0.01

4.0839 +0.01

9.0419 x 0.01

6.2659 +-0.01

8.8638 +-0.01

6.3144 = 0.01

2.7797 x 0.01

5.0109 x 0.01

8.5552+0.01

4.9366 +0.01

6.0568 =-0.01

8.1452 % 0.01

1.704 x 0.01

6.5266 x 0.01

1.9381 x 0.01

4.4994 x 0.01
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Potencias de 10 (B) Respuestas

Calcule los siguientes productos y cocientes.

4.9706 +-0.01
497.06
7.1081 +-0.01
710.81
5.451-+0.01
545.1
2.3582+0.01
235.82
8.7656 x 0.01
0.087656
4.0839 +0.01
408.39
9.0419 x 0.01
0.090419
6.2659 +0.01
626.59
8.8638 +-0.01
886.38
6.3144 +0.01
631.44

2.7797 x 0.01
0.027797
5.0109 x 0.01
0.050109
8.5552+0.01
855.52
4.9366 =-0.01
493.66
6.0568 =-0.01
605.68
8.1452 % 0.01
0.081452
1.704 x 0.01
0.01704
6.5266 x 0.01
0.065266
1.9381 x 0.01
0.019381
4.4994 % 0.01
0.044994
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